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|) Write Roll No. on the first page t.:lfﬂ'lﬂ Question Paper.
2) Marks for every question are indicated alongside.

(A) 'ﬂﬁﬁlﬁ ¥ / Objective Type Questions — |

1 Ry 1y wf g § 96 Ree o1 vaw At - (1X10=10)
Choose the correct option in all the given questions -
() 9 1 59 § uRadq FEemr & - (1)
(31) T (@) reUaH ®|) g @ =
The transformation of a gas into a liquid is called - '
(a) gasification (b) sublimation (c) condensation” (d) freezing -
(i) WE @ HeHl & I FE B fag gwln A oF aeh g - (1)
@) TRR® @ Tvew @ Swme (@ B
Method used to separate the components of an ink is -
(a)  chromatography (b) evaporation " (¢) sublimation (d) filtration
(ii) PFIYH & WAM] HHIG 99T BY | (1)
(3) 21 (@) 18 . @ 20 @ 19
‘What is the atomic number of calcium?
(@ 21 (b) 18 . (cy 20 (d 19
(iv) Cl- g+ § HaWThal gadel & 961 8 — (1)
(3 16 L @ 8 &) 17 € 18
The number of valence electrons in Cl™ ion is - - | -
(a) 16 . s ) B () 17 (d 18
) P # A SRt W a8 T IR S P (1)
(&) o - @) e @) mda R wew
Which of the following is a group of cell? B < U
(@)  Organ (b) Tissues (¢) OrganSystem (d)  Skelet
(vi) goieRa &1 e 1 @ — 4 " o (1)
(&) T (@) "o e (@) wient 0 (@) Soe
The major function of chlorophyll is - |
(ﬂ) RCSPiIﬂﬁﬂn (b) Phﬂlﬂﬁ}‘ﬂlhﬂﬁis ({:) | TfaﬂSpil‘ﬂﬁDn | (d) Exe ti
(vii) TDD T90 H IR gRT ol T8 4 DoaAm) & — | S 0
@ R @ T @ & S
The distance travelled by the object in unit time is called - -
(a) Displacement (b) Speed ~(e)  Velocit | *
(vili) T @1 wem P fre W anRa 87 - (@ Acceleration 0
(@) vEE@ W @ s M w® @) WR W 1
The First Law of Motion based on - ® w E" E
. 7 ) ﬂ
N Tenm by Mass €)  Weight @)  Acceleration [&] |
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Write the First Law of Motion.

@) HWex/dave @) AieR/dwes (W) e (@) e
What is the unit of gravitational acecleration?
(a) mis (h) /s’
eqfy &1 AFF FqT 87

(c)  Newlton (d) iz

) I (@) sMaad (@) = @  ca

What is the unit of Sound?

(a)  Pascal (b) ' Decibel (c) Newton (d) Hz

(B) Raer wiAl A qfif 1/ Fill in the blanks-

Pt & Rt el 3 o T -

Fill in the blanks in the following - | _
The unit of momentum (Impulsé) T TRy e s 1 S Ly
The upward force ﬂxened by the watcr on the bottle is KNIOWI 85...0vvneesanrsasssin SRR e |
e ST it GEVEIOEHY B veovonss ensoersonirrsissen biiEstssssmigssasssmanshserv s sF38esesss .
The smell of perfume gradually spreads across a room due 7 ORI - Do T ) W

SRR [, S ——— R q o s rg B
Brass alln}r MAGE BY i eeeeloniiinessriessne e P, PR .. 05 .

vi) o S it B g TRl B @A BTG H 0= gl
What is the ratio by numbers of atoms fur a water mulecule? H O = iiiinnimeeeniinn

 (vii)) g€ T TC O R S WU Lo il | |

120 and BC BB .\.vovenenirreresisssssrsmsinpmmstasissssssibtssnasastasssdt o danisnneace .of Carbon

(viii) ¥ (P TPR BT ..... - o TAD B
Blood is 2 tYPE OF «..cciiivieesiossromnnionnmrsninnnanarsnaeninnesazisansenaninsionsest, o tiss;le

(C) FferganieT® WE / Very Short Answer Type Questions -

W) A (Rideay) @1 uReIeg PN -

Define the mariculture.

2 @y waet @ 9 e

Write names of two Kharif Crops.

FEF A @ ST @ fo e W g

What is the audible range for a normal human cars?

ofts @1 gfenfia HH |

Define the power.

- afy & v Pram faRag )

(1)

(1x8=8)

(1)

()
(1)
(1)
(1)

(1)

(11x2=£2)
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(3)
(3)
()
(3)

(3

e
E_/‘
The distance travelled hy n person in one E}'Elﬂ of a clrele of rudlus (r) -
E_/‘
ge Trafafea arms o #rf?-mm A vl -
(a) 300K (b) . 500K
Convert the following temperature to Celalus -
(@ 300K  (b) SOOK |
w10 g 5 wE &7
'What is Sublimation?
g1 WA faRay ~ @i sifrgs, ARTRAN STERRTES
Write the formula — Sodlum Oxide, Magnesium Hydroxide
w2 DA v @ #7
What are Canal rays?
W13 WD B ¥
What are the functions of Stomata?
(D) TR 9% / Short Angwer Type Questions -
W4 i PIRET H i R gl
Draw a labelled diagram of an animal cell.
N15 Ue q%g @1 Fedr 10kg &1 qult W g W R gt
An object has a mass of 10kg. What would be its weight on Earth?
w16 ot averor &1 fraw fafag | |
Write the Energy Conservation Law.
H17  15kg FE@WE O [@ T 4m$wm'¢n¢rﬂf&!ﬂatlmuﬁmmmm?
An object of mass 15kg is moving with uniform velocity of 4m/s. What will be its Kinetic energy?
18 dAewrRe Y oua 87 https://www. rajasthanbmard com
What is Vermicompost?
919 UYUTeA @ aar @ 87
What are the benefits of animal husbandry? -
920 @Z vd 94w d IR fafew)
Write the difference between manure and fertiliser.
21 wvoor aur &7 @RawER P @ 2 Rt A
What is weed? Glve 2 methods to control weed. i
22 OmyRY T AT P wRwR BT
Define Frequency and Amplitude.
W23 O ol @ sudn e |
Write the uses of Ultrasound waves.
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(E) <Td STRe@ 7w/ Long Answer Type Questions - (4x4=1g)

H24 (1) W & yfenfie Hfw) ow & aEe ke | (2)
Define pressure. Write the unit of pressure,
(i) SEIEEa ¥ AY T FAIR B (2)
What do you understand by buoyancy?
g25 (i) 1kWh ¥ = aed 22 . (2)
What is meant by 1 kWh? . * -
Gi) 1] 3 or oy Hiftm) - B T )
Define 1 J work,
u26 & wafy R’ @ awrded, sy, amdeTe @ amm W @ st 87 (1+1+1+1=4)
What is meant by wave length, frequency, period and amplitude of a sound wave?
927 ERTIE R 2 AR A Y SweH ¥ PN wafig 27 (2+2=4)
What is pasture and how is it related to honey production? |
(F) M=o w9 / Essay Type Questions - : (2x7=14)
28 () e o @ e ot R Fwr ad #2 | (3)
What is meant by the Kinetic cnergy of an object? o
(i) R &N FR 1 g7 1500 ke 2, ?i’taﬂa%anaﬂzomﬂﬁumhraﬁaaﬁﬁ
fpaT 1l & gT? (4)
The mass of a Car is 1500 kg, then how much work will have to be done to increase its velocity
from 30 km/hr to 60 kivhr? |
IEar/OR
w28 -() fod awg A Rufdw oot & @ ot @7 - (3)
What 1s meant by the potential energy of an object? . |
(i) mkgamﬁaﬁwmﬁﬁuﬁﬁ@fﬁmaﬁmmmw%wﬁaﬁﬁuﬁaw
®1 RS BN (g = 9.8m/s?) _ | ()
Calculate the potential energy of an object weighing 10 kg which is raised to a peight'ﬂf 6m fmm |
the ground. (g = 9.8m/s?) g : :
w29 (i) uﬁmﬁwmaﬁuﬁwﬁacﬂml T . (3)
Define echo and reverberation. e et
(i) H=a o P wfrE oA | | @
Describe human ear in detail with diagram. ’
Jear/OR
729 (i) ﬁmﬂiﬂﬁaﬁfﬂﬁ?ﬂﬂﬂﬁwﬁﬁml | (3)
Define transverse wave and longitudinal wave.
Giy & eaf T A IMERY 2 kHz a1 SHS! aTeed 35cm %l BIE lﬁm@ﬂﬁﬁﬁﬁﬁﬁl
wHq A? , )
* The frequency of a sound wave is 2 kHz and its wﬁﬁe length is 35 cm. How much time will it
take to travel a distance of 1.5 km? E E
[905*9] Page 4 of 4

(3 scanned with OKEN Scanner



